1
D a<-= @—1<a<—5 ® a> -

A2 ax 4y =29 DIty = x+ 49} A 3 AFEH
o, a o] ¥ IS F5HH?

- =

oA whd



A (3,2 & Ade

]
=1

x-2y=25 2x+3y=-49 1

24

=
nE

s

:[L

O
=

, ab °] gt

k13
=

Ol A& y=ax+bzt

!

NI

® 6

@ 2



A QLA x + 2y =4, Sx+ay =17, 2x—y =32 A Tr} %
S ol A whdtha gt | g 9] 29

@® -3 @ -2 ® -1 @ 0 ®1



A0 = A ax+3y = x+9, 8x+6y = a+ b 2] W] F47]
B, a4 b9 F2?

@ 6 @ 12 ® 18 @ 24 ® 30



T Ay =ax+bSy=bx+a2 AHyHEI} 10 0] ©]
AT} x =0 02 Sl TR@o] Wol7t 2 & w A a, b o] B
ab O L2 (F, b>a>0)

® 12 @ 17 ® 21 @ 24 ® 32



golet Fdo|7t Zt7F 125mL, 80mL ©] ¢/ FAI] 23
10 2 upA|L Qith x & Fof §2 79 &S ymLet & o,

P

1E
o o
flo do Jp

949 o] ZotA| 712

y(mL)A
125
2
80
59
>
O 5 8 T (%)

©
| W
po
S
b
®
N | Ot
by
®
w
i
©



7.

x+ay+b =09 THZ7} 2x + 8y -5 = 09 1=} PPkl
4x+3y+9 =09 Tz} y= oA Thd wf, y = ax—b 2] T}
x—y=09] Jfme} vht= Ho| HmE?

@ (-7, -7) @ (4, 4) ® (-1, -1)
@ (2,2) ® (5, 5)



8.

A AN x-2 =4 x+y=-1l,ax-5y+1=022 4
ol FolA A ¢k& W, a ] gho & F-stoizt

O -5 @ 5 ® 10 @ — ® 15



2P 9lof vl & A(2, 6). B(2, 3), C

(4, 3), D(4, 6

sHe AMZFg ol otk A y = ax +

TR S1s 0 9] ghe] WelR e A

IN
IA
N~

W N w

<a<
<a<b

@
®

IA
N ©ON| ot

a
a

)
@

N U =
IA

flo



10.

N

]

ro 4

Ay=ax® 7ty = 2x+ 59 T} x5, yFOo=2 K
HEo] go|& o]ttt & off, A4 a 9] 327



